

CERTIFICATE OF ORIGIN ORIGINAL

TO VALIDATE, GO TO Certificate Number : GI-COO-55446-67649c3cae4b3 **VERIFY.FTGS.US** Date: December 19, 2024

	VEIIII I.I IV	00.00	December 19, 20.	24	
Seller (Exporter) Healthy Green Life Corporation	Transport Type Vessel			Port of Loading LOS ANGELES	
43 Corporate Park Irvine CA USA Consignee	Destination Country China		X / / /// / / XXXX//////	Destination Port TianjinXingang	
	Export Date 2024-12-09	Export Date 2024-12-09		Exporting Carrier N/A	
Bei Jing You Yuan Mu Ye Limited Company 200 meters west of Village Committee, Wuxiongsi Village Dasungezhuang Town, Shunyi District	Import Permit Number N/A		Bill of Ladin 401410648	Bill of Lading / AWB 401410648897	
Beijing China	Owner or Age N/A	Owner or Agent N/A		Forwarding Agent N/A	
Buyer (Importer) Bei Jing You Yuan Mu Ye Limited Company 200 meters west of Village Committee, Wuxiongsi Village Dasungezhuang Town, Shunyi District Beijing China	Remarks Total: 1,082 Total: 468.9				
Description			Weight	Country of Origin	
(May include notes on Quantity, Item Number, Marks and Number Alfalfa Hay	rs, Kind of Package	es.)	22.244mt	United States	
Marks: EGSU9485465 52bales					
Alfalfa Hay			22.399mt	United States	
Marks: EGSU9658489 52bales					
Alfalfa Hay			22.317mt	United States	
Marks: EISU8547226 51bales					
Alfalfa Hay			22.362mt	United States	
Marks: EMCU8438367 52bales			ALARAAN T		
Alfalfa Hay			22.489mt	United States	
Marks: GCXU6368498 50bales					
Alfalfa Hay			22.417mt	United States	
Marks: EGHU9421087 52bales					
Alfalfa Hay Marks: EGHU9468952 52bales			22.299mt	United States	
Name of Authorized Trade Association		 The above-mentioned goods origit applicable in the country(les) to the -The information in this certificate accurate, true and complete. The Applicant undertakes to advisic Certificate (or to whom the Certific of any inaccuracy, omission or cha -The Applicant will maintain, and pit truth, accuracy and completeness In consideration for the GIC's issue 	inate in the country(ies) spec ose goods. and in any documents provid e GIC and any other person(s ate is provided to with the kn nge in such information, or in resent upon request, such do of this certificate and accom ance of this Certificate, the A onnection with the issuance made against GIC in connect	cumentation as is necessary to verify the panying documents. pplicant agrees to release, discharge and hold of this certificate and to indemnify GIC in tion herewith.	



CERTIFICATE OF ORIGIN ORIGINAL

TO VALIDATE, GO TO Certificate Number : GI-COO-55446-67649c3cae4b3 VERIFY.FTGS.US Date : December 19, 2024

	VERIF1.F165.05 December 19, 2024				
Seller (Exporter) Healthy Green Life Corporation	Transport Type Vessel			Port of Loading LOS ANGELES	
43 Corporate Park Irvine CA USA	Destination (China	Destination Country China		Destination Port TianjinXingang	
Consignee	Export Date 2024-12-09	Export Date 2024-12-09		Exporting Carrier N/A	
Bei Jing You Yuan Mu Ye Limited Company 200 meters west of Village Committee, Wuxiongsi Village Dasungezhuang Town, Shunyi District	Import Permit Number N/A			Bill of Lading / AWB 401410648897	
Beijing China	Owner or Agent N/A		Forwarding A N/A	Forwarding Agent N/A	
Buyer (Importer) Bei Jing You Yuan Mu Ye Limited Company 200 meters west of Village Committee, Wuxiongsi Village Dasungezhuang Town, Shunyi District Beijing China	Remarks Total: 1,082 Total: 468.9				
Description (May include notes on Quantity, Item Number, Marks and Numbe	rs. Kind of Package	es.)	Weight	Country of Origin	
Alfalfa Hay			22.888mt	United States	
Marks: TIIU5120791 52bales					
Alfalfa Hay		22.008mt	United States		
Marks: EITU9046120 52bales					
			22.526mt	United States	
Marks: EGHU9385694 51bales					
Alfalfa Hay Marks: TXGU7377587 52bales		22.281mt	United States		
Alfalfa Hay Marks: TLLU7772640 52bales			22.181mt	United States	
Alfalfa Hay Marks: EGHU8478344 52bales			22.435mt	United States	
Alfalfa Hay Marks: GCXU5330348 52bales			22.299mt	United States	
Name of Authorized Trade Association		 The above-mentioned goods orig applicable in the country(les) to tf -The information in this certificate accurate, true and complete. The Applicant undertakes to advi Certificate (or to whom the Certifi of any inaccuracy, omission or ch. The Applicant will maintain, and truth, accuracy and completeness -In consideration for the GICS issue 	jinate in the country(ies) speci iose goods. e and in any documents provide se GIC and any other person(s cate is provided to with the kn ange in such information, or in present upon request, such do of this certificate and accomp uance of this Certificate, the A connection with the issuance of s made against GIC in connect	cumentation as is necessary to verify the panying documents. oplicant agrees to release, discharge and ho of this certificate and to indemnify GIC in ion herewith.	



CERTIFICATE OF ORIGIN ORIGINAL

TO VALIDATE, GO TO Certificate Number : GI-COO-55446-67649c3cae4b3 **VERIFY.FTGS.US** Date: December 19, 2024

Seller (Exporter) Healthy Green Life Corporation	Transport Type Vessel			Port of Loading LOS ANGELES	
43 Corporate Park Irvine CA USA	Destination (China	Destination Country China		Destination Port TianjinXingang	
Consignee Bei, Jing You Yuan Mu Ye Limited Company	Export Date 2024-12-09)	Exporting Ca N/A	Exporting Carrier N/A	
Bei Jing You Yuan Mu Ye Limited Company 200 meters west of Village Committee, Wuxiongsi Village Dasungezhuang Town, Shunyi District	Import Perm N/A	Import Permit Number N/A		Bill of Lading / AWB 401410648897	
Beijing China	Owner or Age N/A	Owner or Agent N/A		Forwarding Agent N/A	
Buyer (Importer) Bei Jing You Yuan Mu Ye Limited Company 200 meters west of Village Committee, Wuxiongsi Village Dasungezhuang Town, Shunyi District Beijing China	Remarks Total: 1,082 Total: 468.9				
Description (May include notes on Quantity, Item Number, Marks and Number	rs, Kind of Package	es.)	Weight	Country of Origin	
Alfalfa Hay			22.417mt	United States	
Marks: EGHU8200116 51bales Alfalfa Hay Marks: TRHU5637921 51bales			22.426mt	United States	
Alfalfa Hay Marks: EMCU8643588 52bales		21.863mt	United States		
Alfalfa Hay Marks: EGSU9394452 52bales		22.117mt	United States		
Alfalfa Hay Marks: FFAU5098274 48bales			22.444mt	United States	
Alfalfa Hay Marks: EISU8203848 52bales			22.29mt	United States	
Alfalfa Hay Marks: TLLU8504771 52bales			22.272mt	United States	
=====end of products=======					
Name of Authorized Trade Association		 The above-mentioned goods origitapplicable in the country(ies) to the "The information in this certificate accurate, true and complete. The Applicant undertakes to advisit Certificate (or to whom the Certificate of any inaccuracy, omission or chaster a structuracy and completeness of the applicant will maintain, and put ruth, accuracy and completeness of the Certification for the GIC's issues of the certificate of the Ce	nate in the country(ies) speci ose goods. and in any documents provid e GIC and any other person(s ate is provided to with the kn nge in such information, or in esent upon request, such do of this certificate and accom ance of this Certificate, the A onnection with the issuance made against GIC in connect	cumentation as is necessary to verify the panying documents. oplicant agrees to release, discharge and hold of this certificate and to indemnify GIC in tion herewith.	

MUUIII

Booking Document - HayCloud.com

Healthy Green Life Corporation 1152 S Roughcut Dr, Casa Grande, AZ 85194 USA

COMMERCI	AL INVOIO	CE			Invoice No. Date:	YY-202412002 10/17/24	
Shipper/Exporter: Healthy Green Life Corp 1152 S Roughcut Dr Casa Grande, AZ 85194, USA				Consignee: Bei Jing You Yuan Mu Ye Limited Company 200 meters west of Village Committee, Wuxiongsi Village, Dasungezhuang Town, Shunyi District, Beijing			
Vessel:	EVER MACH			Contract No.:	YY-HGLC2024-7		
Voyage No.:	1376-007W			Booking No.:	401410648897		
Shipping Line:	Evergreen			Country of Origin:	USA		
Port of Loading:	LOS ANGELES	5, CA		Discharge:	TianjinXingang, China		
ETD:	12/9/24			ETA:	1/11/25		
Price Terms:	CIF						
Container No.	Seal #	Product	Bales	Net Weight (MT)	Unit Price USD/MT	Amount (USD)	
EGHU8200116	A1620016	Alfalfa Supremi	51	22.417	\$395.00	\$8,854.7	
EGHU8478344	A1620020	Alfalfa Supremi	52	22.435	\$395.00	\$8,861.8	
EGHU9385694	A1620161	Alfalfa Supremi	51	22.526	\$395.00	\$8,897.7	
EGHU9421087	A1620167	Alfalfa Supremi	52	22.417	\$395.00	\$8,854.7	
EGHU9468952	A1620165	Alfalfa Supremi	52	22.299	\$395.00	\$8,808.1	
EGSU9394452	A1620665	Alfalfa Supremi	52	22.117	\$395.00	\$8,736.2	
EGSU9485465	A1620063	Alfalfa Supremi	52	22.244	\$395.00	\$8,786.3	
EGSU9658489	A1620070	Alfalfa Supremi	52	22.399	\$395.00	\$8,847.6	
EISU8203848	A1620557	Alfalfa Supremi	52	22.290	\$395.00	\$8,804.5	
EISU8547226	A1620220	Alfalfa Supremi	51	22.317	\$395.00	\$8,815.22	
EITU9046120	A1620169	Alfalfa Supremi	52	22.008	\$395.00	\$8,693.1	
EMCU8438367	A1620218	Alfalfa Supremi	52	22.362	\$395.00	\$8,832.9	
EMCU8643588	UL9161251	Alfalfa Supremi	52	21.863	\$395.00	\$8,635.8	
				<u> </u>	40	** ***	

		Commodity	Crude	Protein Moisture R	EV ASH	
Total Value:			1,082	468.974	<u> </u>	\$185,244.74
Total Values	1	·	1 000	469.074		¢105 244 74
TXGU7377587	A1620115	Alfalfa Supremi	52	22.281	\$395.00	\$8,800.99
TRHU5637921	A1620015	Alfalfa Supremi	51	22.426	\$395.00	\$8,858.27
TLLU8504771	A1620559	Alfalfa Supremi	52	22.272	\$395.00	\$8,797.44
TLLU7772640	A1620111	Alfalfa Supremi	52	22.181	\$395.00	\$8,761.50
TIIU5120791	A1620163	Alfalfa Supremi	52	22.888	\$395.00	\$9,040.76
GCXU6368498	A1620168	Alfalfa Supremi	50	22.489	\$395.00	\$8,883.16
GCXU5330348	A1620018	Alfalfa Supremi	52	22.299	\$395.00	\$8,808.10
FFAU5098274	A1620664	Alfalfa Supremi	48	22.444	\$395.00	\$8,865.38
EMCU8643588	UL9161251	Alfalfa Supremi	52	21.863	\$395.00	\$8,635.89

Commodity	Crude Protein	Moisture	RFV	ASH
Alfalfa Hay(Supreme)	>=22	<=14	>=185	<=12

GREEN COLOR, LITTLE TO NO BLEACH, NO NILDEW, NO DIRT.

PACKING FITTFOR OCEAN TRANS, CONTATION AND NON WOOD PACKAGING, EACH BALE IS APPROX. 420-460KG

https://www.haycloud.com/popups/popdoc.aspx?action=new&mode=view&from=booking&bookingid=83233&ran=717763

12/19/24, 1:39 PM

By Healthy Green Life Corporation

AUTHORIZED SIGNATURE



Booking Document - HayCloud.com

